Séme DEVELOPPER

1°) Développe et réduis

a) x(2x+1) b) 3x(- 2x+2) c) 5x2(x+7) d) -_;x( 6x+9)
e) 3(2x+1)(- x) f) (5x- 2)(2x+3) g) (3- 7x)(9x+1) h) &- %9(2x+1)
e @
i) 5(2x- 8)(1+3x) j) 4X+1(3x+2) k) (2y - 3)(4- 5y) 1) 83_4 2xBx + 29
ed e @
2°) Recopie et compléte |e tableau
a 3X X -2X 3 Complete:
2 2
b 1 2 05 X (a+b)?=
3
a’ (a- b)*=
2ab (a+b)(a- b)=
b2
3°) développe en utilisant |es égalités remarquables
.2 3 X..2
a) (3x+1)° b) & 29 o) (- 2x+057  d) & 2. X9 o) (3x- 1)°
€2 g & 2 3g
,.2 2
f) (4x- 3)? g (- 7+5x)° h & 3x- 29 i) & 452 i) (x- 4)(x+4)
e 3g e3 g
k) (2x+1)(2x- 1) ) 8%x+1.—%%x- 19 m) g’—‘l 2x%€4+2x9
é 2@ 29 ed @5 2
2 30 . log, 10 B, . 30
n) 33X+5‘.a 0)8X Bg X+3éf p)gx pp

5°) Développe et réduis

a) 2x2(x2 +5x+9)- 2x% - 15x

C) (2x- 1)2 +(2x +1)(2x- 1)

16 16
€) @x+—9’ 2+§<- =2
e 29 e 3g

g) (x+6)° - 2(2x- 1)
i) (3x+4)(4- 3x)+ (2x+1)(x- 2)
k) (3x- 1)*- (3x+1)* +(3x +1)(3x - 1)

b) (x- 3)° - 3x(2x- 1)

d) g‘%%% - (x- 2)(2x- 1)

18

2g

h) (5x+2)? + (5x +2)(5x - 1)

)] (5- 2x)(2x+1)+(10- 4x)(x- 3)

f) (x- 1)(2x+3)- -
e



